QUIZ 3


PROBLEM 1 (7 pts)


� EMBED Word.Picture.6  ���


The block has mass m=15 kg and lies on a smooth plane tilted at � EMBED Equation.2  ��� to the horizontal. (See the figure.) Determine: (a) The acceleration of the block as it slides down. (b) If the block starts from rest 8.3 m up the plane from its base, what will be the block’s speed when it reaches the bottom of the incline? Assume � EMBED Equation.2  ���.





PROBLEM 2 (7 pts)


A 0.9 kg ball, attached to the end of a cord, is rotated in the horizontal plane in a circle of radius 1.7 m. If the cord will break when the tension exceeds 190 N, what is the maximum speed the ball will have?














